T

)

T
“ﬂﬂﬂﬂ . = s
T

T

ﬂl‘lllllll!llf

LLLOLT LG L '““‘_'“‘

1T
7 Il _"Mnl!.nmn"n.

T

2 kA8 X
[&KEKE]

{E":.L\;

/A7

RKRIKE

05~1.0mEi

3.0~5.0m*i

- 50mil Lt

1:2,500

ARES SuiFE., 57945



= KHT
=K E R B
[(H1TERERE]

ETH

BASITEH

BL3

53E 5

FARE

1:2,500

AREES SLiEFE. £7945




= KHT
=KEERXEE
[RAFE])

&SR]

RATE

0.00m/s~

1.00m/s~

3.00m/s~

5.00m/s~

9.00m/s~

12.00m/s~

1:2,500

AREES SLiEFE. £7945




/,,/ £ f"’]: e 1\
SREAEERE
|' |

o 1,

O o S

4 B

=

——

f_

= ]
R,

________

= KHET
=KEERXEE
(K BIERFRE )

&R

HOKEERR

05~

153~

294~

353~

1:2,500

| 1 [l 1 1 L ‘ qu

AREES SLiEFE. £7945



